c
1.
Next year’s annual dividend divided by the current stock price is called the:


a.
yield to maturity.


b.
total yield.


c.
dividend yield.


d.
capital gains yield.


e.
earnings yield.

d
2.
The rate at which a stock’s price is expected to appreciate (or depreciate) is called the _____ yield.

a.
current

b.
total

c.
dividend

d.
capital gains


e.
earnings
a
3.
An agent who arranges security transactions among investors is called a:

a.
broker.

b.
trader.

c.
capitalist.

d.
principal.

e.
dealer.
c
4.
A member of the New York Stock Exchange acting as a dealer in one or more securities on the exchange floor is called a:


a.
floor trader.


b.
floor post.


c.
specialist.


d.
floor broker.


e.
commission broker.

c
5.
The Koster Co. currently pays an annual dividend of $1.00 and plans on increasing that amount by 5 percent each year. The Keyser Co. currently pays an annual dividend of $1.00 and plans on increasing their dividend by 3 percent annually. Given this, it can be stated with certainty that the _____ of the Koster Co. stock is greater than the _____ of the Keyser Co. stock.


a.
market price; market price


b.
dividend yield; dividend yield


c.
rate of capital gain; rate of capital gain


d.
total return; total return


e.
capital gains; dividend yield

c
6.
Latcher’s Inc. is a relatively new firm that is still in a period of rapid development. The 



company plans on retaining all of its earnings for the next six years. Seven years from 



now, the company projects paying an annual dividend of $.25 a share and then 

increasing that amount by 3 percent annually thereafter. To value this stock as of today, you would most likely determine the value of the stock _____ years from today before determining today’s value.


a.
4


b.
5


c.
6


d.
7


e.
8

b
7.
A stock listing contains the following information: P/E 17.5, closing price 33.10, 



dividend .80, YTD % chg 3.4, and a net chg of -.50. Which of the following statements 



are correct given this information?


I.
The stock price has increased by 3.4 percent during the current year.


II.
The closing price on the previous trading day was $32.60.


III.
The earnings per share are approximately $1.89.


IV.
The current yield is 17.5 percent.


a.
I and II only


b.
I and III only


c.
II and III only


d.
III and IV only


e.
I, III, and IV only

d
8.
Michael’s, Inc. just paid $1.40 to their shareholders as the annual dividend. Simultaneously, the company announced that future dividends will be increasing by 4.5 percent. If you require an 8 percent rate of return, how much are you willing to pay to purchase one share of Michael’s stock?


a.
$31.11


b.
$32.51


c.
$40.00


d.
$41.80


e.
$43.68

d
9.
Can’t Hold Me Back, Inc. is preparing to pay their first dividends. They are 


going to pay $1.00, $2.50, and $5.00 a share over the next three years, respectively. After that, the company has stated that the annual dividend will be $1.25 per share indefinitely. What is this stock worth to you per share if you demand a 7 percent rate of return?


a.
$7.20


b.
$14.48


c.
$18.88


d.
$21.78


e.
$25.06

c
10.
Majestic Homes stock traditionally provides an 8 percent rate of return. The company 



just paid a $2 a year dividend which is expected to increase by 5 percent per year. If 



you are planning on buying 1,000 shares of this stock next year, how much should you 



expect to pay per share if the market rate of return for this type of security is 9 percent 




at the time of your purchase?


a.
$48.60


b.
$52.50


c.
$55.13


d.
$57.89


e.
$70.00

